I

SPRAYING DEVICES INC.

&
%),
& I -‘ 89
® @

SDI Self Contained Turf
Walker Model WBSC10

Spraying Devices, Inc., P. O. Box 3107, Visalia, CA. 93278 USA Tel: 559-734-5555 Fax: 559-734-5591 PI1252/05/18jj
email: sales@sprayingdevices.com www.sprayingdevices.com




SDI Self Contained Turf Walker, Model WBSC10

Item Part

Number Number Description Qty.
1 69-010 Handle Bar Grip 2
2 27-060 Liquid Filled Gauge 0-60psi 1
3 50-250B Coupling 1/4 In Brass 1
4 11-0694 Handle Bar Assembly 1
5 11-0675 Upright Pump Mount 1
6 48-104 Cotter Pin 1/8 In 2
7 11-742 Spacer 1/2 x 11/16 In 2
8 80-032 Tire W/7 Spoke Wheel 2
9 11-0672 Upper Brace Boom Pipe 2
10 11-0674 Frame and Axle 1
11 11-0673 Lower Brace Boom Pipe 2
12 80-030 Tire W/3 Spoke Wheel and 2 In Hub 2
13 11-0671 Boom Tube Mount 2
14 41-502W Wing Nut 5/16 In 2
15 42-502 Flat Washer 5/16 In 2
16 15-095 Walking Boom Battery Box 1
17 79-050 12 Volt Battery Sealed with 79-051 Charger 1
18 53-091 Elbow Adapter 1/2 FPT x 1/2 In HB Poly 2
19 24-106SS Hose Clamp 7
20 K1136-1/2 Hose 1/2 ID 300psi Blue, Per Ft. Specify
21 53-094 Adapter 1/2 MPT x 1/2 In HB Poly 3
22 LVO50MTV Micro Valve 1/2 Female x 1/2 In Male Poly 5
23 CRO050 Cross 1/2 In FPT Poly 2
24 47-104 U-Bolt 1/4 x 1-1/4 x1-3/4 In 2
25 K1136-1/2 Hose 1/2 In 250psi Blue, Per Ft. Specify
26 24-106SS Hose Clamp 2
27 53-094 Adapter 1/2 MPT x 1/2 HB Poly 1
28  AA343M-3-1/2-PP| Ball Valve Assembly Poly 1
29 53-884 Pipe Plug 1/2 NPT 1
30 53-901 Close Nipple 1/2 In 1
31 RB3412-P Reducing Bushing 3/4 x 1/2 In 1
32 53-805 Bushing 1-1/4 x 3/4 In Poly 1
33 SP0010-SQ8 | Cone Bottom Tank 1
34 NTL12-P Elbow 90° 11/16 Un x 1/2 HB 1
35 10525 8 In Lid 1
36 51-430 Left Boom Pipe 1
37 52-418 Pipe Saddle Assembly 3
38 11-471 Boom Pipe Hinge 2
39 51-431 Boom Pipe 1
40 51-432 Right Boom Pipe 1
41 64-411 Single Nozzle Body W/Check Valve 12
42 64-406 Black Cap 12
43 64-643 Tip TP8003VP Poly 12
44 64-404 Rubber Washer 12
45 64-403 Strainer Screen Nylon 12
46 64-415/20 Check Valve 20psi 12

Spraying Devices, Inc., P. O. Box 3107, Visalia, CA. 93278 USA Tel: 559-734-5555 Fax: 559-734-5591

email: sales@sprayingdevices.com www.sprayingdevices.com




SDI Self Contained Turf Walker, Model WBSC10

Item Part
Number Number Description Qty.
47 64-414 Diaphragm 1
48 64-416 O-ring 1
49 52-111 Elbow Adapter 1/2 MPT x 1/2 In HB Poly 2
50 TEEO050 Tee 1/2 FPT Poly 1
51 A1214-P Adapter 1/2 MPT x 1/4 HB 2
52 24-104MSS Hose Clamp 4
53 K1136-1/4 Hose 1/4 PVC 300pso Blue Per Ft. Specify
54 5537-2E1-63B | Pump 5.3 GPM 60psi Bypass 12V DC V/S 1
55 M1200P Nipple 1/2 MPT Poly 2
56 3350-0079A | Strainer, Poly W/50 Mesh Screen 1
57 53-091 Adapter 1/2 FPT x 1/2 In HB Poly 1
58 SL050-90 Street Elbow 90° 1/2 MPT x 1/2 1
59 11-0676 Rear Axle 1
60 EL1414-P Elbow Adapter 1/4 MPT x 1/4 HB Poly 1
61 GC-100-KIT Gun Clip Package 1
62 64-227 Weed Wand W/Trigger Lock Max 100psi 1
63 81-073 Speedometer Kit 1
Items not illustrated:

48-047 Shoulder Bolt Socket 1/2 x 2-1/4 2

52-588 Tube Plug 4

72-910 Switch/Rocker LED Illuminated 1

Spraying Devices, Inc., P. O. Box 3107, Visalia, CA. 93278 USA Tel: 559-734-5555 Fax: 559-734-5591

email: sales@sprayingdevices.com www.sprayingdevices.com

05/08/18jh




